Math 160 Test 1 ' Name:
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. (2 points)  Determine whether the given value is a statistic or a parameter. All the

employees of Burger World are asked their age. The average age is found to be 34

yea.rs 01 d.

. (2 points) A Gallup poll asked Americans, "Which subject (Math, English; His-

tory,...), if any, has been the most valuable in your life?” What kind of variable did
the Gallop organization measure?

. (2 points)  Sketch a histogram below for which the median would be greater than

the mean.

. (3 points)  List the original data from the stemplot in an ordered list sorted in a

descending fashion. et S S ke gl e el Gl [
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Stem | Leaves

2 24
3 6809
4 148
5 13

. (3 points) Construct the dotplot for the given data. Attendance records for a

preschool class with 15 students show the number of days each student was absent
during the year. The days absent for each student were as follows.
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6. (3 points) Use the data to create a stemplot. The midterm test scores for the
university’s seventh-period graduate chemistry class are listed below
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Use the data from question 6 to answer questions 7—13

7. (1 point) What is the range? 7;”, == Ll &= 1 y ) 7>
8. (1 point) What is the value of the median? s
5
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9. (1 point) What is the value of quartile 17
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10. (1 point) What is the value of quartile 37
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11. (2 points) What two values provide the iower and upper fences for the data?
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13. (2 points) Construct a boxplot for the data.
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14. (1 point) Is the distribution in the histogram above(ékewed left skewed right, or is
normal?
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15. (2 points) Andrew asked five of his friends how many cousins they had. The results
are listed below. Find the mean number of cousins. Your answer should include
writing down which formula you are using.
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16. (1 point) What formula should be,,used to calculate the standard deviation?
= z_f’ ) 16.
17. (2 points) What is the value of the standard deviation?
| A~ ;/‘_‘;_}‘ y o 17 5- {':\
L{ « \T U : {é - ”' ,;’q_ ’_' :! 2 ;‘- e, ' — , 2 &
|7=% 1 |

[ E = | ? G~ j)’ ;/:_fk- _‘_i:- r (LG N Vs

:' L ) { i — i i i J = } e —_ o

(6 }1¢ < \ — =y

I B [ i ;

B A Driver
A survey of autos parked in student and staff Stadont | Btalt
lots at the college classified the brands by ‘ o 120 o
country of origin. The results from the survey 59 HeRcad.
are given in the table (right). Use these C:'D European 12 33
results to answer questions 18 — 20. Asian 85 95

iy
2ip = 29 Y = 1

18. (2 points) What percent of all the cars surveyed were American?
20+ |17 { ]
eyl . 18. 1%
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19. (2 points) What percent of Asian cars were owned by staff?

#3 19. $3%

O arc

20. (2 points) What percent of the Students owned Asian cars?

20. ?.5' ] b




21. (2 points) The annual rainfall in a town has a mean of 13 inches and a standard
deviation of 3 inches. Last year there were 10 inches of rain. How many standard
deviations from the mean is that?
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23. (2 points) In a Sta.nda.rd Normal model, what value(s) of z cut(s) off the hlghest
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—1 129,
/”_,;-3\“‘;'.\ / 2%
N

Z
= favnorm(0- ) = 0}7?

24. Assume the cholesteriol levels of a ult Amerlcan women can be described by a Normal
model with a mean of 188 mg/dL and a standard deviation of 24 mg/dL.

(a) (2 points) What percent of adult women do you expect to have cholesterol levels

over 230 mg/dL? r
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(b) (2 points) What percent of adult women do you expect to have cholesterol levels
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m*f{' o J;!'.E L{ %
e fg,J el L i{}\
P ‘\\ {/i‘ andOrd No sy me
\ 08T |, 135182 | =3 = Z£-0H8
\ Z= = 7 =E f
A \ 14 g }
——TYe i i -2 =~ [xS — JLF i _
‘“‘“—’— < 4 Bl -1 0B poped <d (30,0135

v el

= Juf 15

(c) (2 pomts) Above what value are the hlghest 20% of woman’s cholesterol levels‘?
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Math 160 Test 1 Name:

1. (2 points)  Determine whether the given value is a statistic or a parameter. Some
of the employees of Burger World are asked their age. Their average age is found to
be 34 years old.

2. (2 points) A Gallup poll asked Americans, ” Which subject (Math, English, His-
tory,...), if any, has been the most valuable in your life?” What kind of variable did
the Gallop organization measure?
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3. (2 points)  Sketch a histogram below for which the median would be less than the
mean.

- 3.

4. (3 points)  List the original data from the stemplot in an ordered list sorted in a
descending fashion.
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5. (3 points) Construct the dotplot for the given data. Attendance records for a
preschool class with 15 students show the number of days each student was absent
during the year. The days absent for each student were as follows.
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6. (3 points) Use the data to create a stemplot. The midterm test scores for the

university’s seventh-period graduate chemistry class are listed below.
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Use the data from question 6 to answer questions 7—13.

§5- 45 =50 7 50

7. (1 point) What is the range?

8. (1 point) What is the value of the median? s
-1 .
8. { b’
9. (1 point) What is the value of quartile 17 :
Y
10. (1 point) What is the value of quartile 37
10. . Y3

11. (2 points) What two values provide the lower and upper fences for the data?
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12. (1 point) Are there any outliers? Explam your reasoning to obtain full credit.
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13. (2 pomts) Construct a boxplot for the data. " ‘ L) 1
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14. (1 point) Is the distribution in the histogram abor(}e skewed left, Skewed right, or is

? ;
normal? /
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15. (2 points) Andrew asked five of his friends how many cousins they had. The results

are listed below. Find the mean number of cousins. Your answer should include

writing down which formula you are using.
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16. (1 point) What formula should be used to calculate the standard deviation?
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17. (2 points) What is the value of the standard deviation?
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21. (2 points) The annual rainfall in a town has a mean of 23 inches and a standard
deviation of 3 inches. Last year there were 20 inches of rain. How many standard

deviations from the mean is that?
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24. Assume the cholesterol levels of adult American women can be descnbed by a Normal
model with a mean of 188 mg/dL and a standard deviation of 24 mg/dL.
(a) (2 points) What percent of adult women do you expect to have cholesterol levels
5;‘

over 215 mg/dL?
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(b) (2 points) What percent of adult women do you expect to have cholesterol levels
between 135 and 180 mg/dL? ) p
oo ’ﬁgﬂ.&%}l b “gb 3 6 57
: \\ Sf{;«{l !\JOFM’:\{
]

i
A i
5 i =) P dal

: =-0.3% = (0.366%

[3s 1o |58
3 Lo
(c) (2 points) Above what value ‘are the highest 25% of woman’s cholesterol levels?
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Math 119 Test 2 Name: (Q/‘v"
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1. (4 points) Fill in the blanks below.
For each variable, the average is 50 and the standard deviation is 10.

=

For one of the graphs below, r = —0.90.
For one of the graphs below, r = 0.00.
For one of the graphs below, r = 0.80.
For one of the graphs below, r = 0.95.
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For questions 2 and 3, describe the error in the stated conclusion. (Worth
1 point each.)

Given: The linear correlation coefficient for the IQ test scores and head circum-
ferences of test subjects is very close to 0.

Conclusion: 1(Q) scores and head circumferences are not related in any way.

See {j-‘(!é‘,\ir ;(1/2!}

Given: There is a linear correlation between annual personal income and years of
education.

Conclusion: More education causes a person’s income to rise.
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4. Listed below are sizes (in thousands of square feet) and revenue (in millions of

dollars) from casinos in Atlantic City.

S ‘160 997 140 144 161 147 141
189 157 140 127 123 106 101

Revenue

k]

(a) (1 point) Which variable (Size or Revenue) should we take as the response
variable?

(a) RQ Veand,

(b) (1 point) Which variable (Size or Revenue) should we take as the explanatory

variable? i
by_2ze
(¢) (2 points) Find the correlation, r. (c) ___0"4—1{““__
. = {0, 3. 5 X
(d) (2 points) What is the regression equation? (d) w + b
4 0%)
(e) (1 point) What is the value of 77 (e) __O'_B__i( S Ry

(f) (2 point§) Interpret the meaning or 72 in this context.
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5. Identify the type of sample survey.

(a) (1 point) To determine her blood pressure, Charlotte divides up her day into
three parts: morning, afternoon and evening. She then measures her blood
pressure at 3 randomly selected times during each part of the day.

@ Hestibied

(b) (1 point) To estimate the percentage of defects in a box of Krusty-O cereal, a
quality control engineer selects every 120" box of Krusty-Os that is produced.

(b) S 92’?@,\’(\{'\ <

(c) (1 point) To determine customer opinion of their inflight service, LeastWorst
Airlines randomly selects 100 flights and surveys all the participants of each
flight.

(C) C(Ugg%k e

(d) (1 point) A man experienced a tax audit. The tax department claimed that
the man was audited because he was randomly selected from all men in his age

group. B
) F :
(d) Steats bred

3

(e) (1 point) A San Diego television station asks its viewers to call in their opinion
regarding the weather programming.

(¢) Covenes

(f) (1 -point) Each employee of Nerdstroms Department Store has a 7-digit em-
ployee number. The district manager wants to find out how happy the employees
who work there are with their jobs. She randomly selects 30 employee numbers
and surveys the corresponding employees.

(f) SRS

(g) (1 point) A teacher wants to find out about the opinions of the class on a certain
topic, so she surveys the entire class.
(g) C@y\s’ wS

(h) (1 point) A researcher interviews 19 work colleagues who work in his building.
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6. For each pair of variables, indicate what association you expect: positive
(+), negative (—) or none (N).

(a) (1 point) The linear relationship between the availability of doctors (measured
as y/doctors per person) for countries of the world and life expectancy (in years).

+

(a)
(b) (1 point) The relationship between car weight and braking distance.
e
(b)

7. (2 points) Which of the following statements concerning the linear correlation coef-

ficient are true?
7 B ad C

(a) If the linear correlation coefficient for two variables is zero, then there is no
relationship between the variables.

(b) If the slope of the regression line is negative, then the linear correlation coefficient
is negative. :

(¢) The value of the linear correlation coefficient always lies between -1 and 1.

(d) A linear correlation coefficient of 0.62 suggests a stronger linear relationship than
a linear correlation coefficient of -0.82. ?

8. (2 points) A set of data consists of the number of years that applicants for foreign
service jobs have studied German and the grades that they received on a proficiency
test. The following regression equation is obtained: § = 31.6 + 10.9z where = rep-
resents the number of years of study and y represents the grade on the test. What
does the slope of the regression line represent in terms of grade on the test?

9. (1 point) Six pairs of data yield r = 0.089 and the regression equation § = 5z + 2.
Also, § = 18.3. What is the best predicted value of y for z = 57 ' f 3
9. :

10. (1 point) Six pairs of data yield r = —0.82 and the regression equation § = 4z — 2.
Also, 7 = 19. What is the best predicted value of y for z = 57 ‘ 8
" 10. _ S
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For questions 11, 12 and 13, read each brief report of statistical research,
and identify whether it was an observational study or an experiment.

11. (1 point) A marketing firm does a survey to find out how many people regularly
each Krusty-O cereal. Of the one hundred people contacted, fifteen said they use the

product. s
11. Qb served ol JJ(WJV()

12. (1 point) A clinic gives a drug to a group of ten patients and a placebo to another
group of ten patients to find out if the drug has an effect on the patients’ illness.

12. &M_

13. (1 point) A quality control specialist at the Krusty-O factory compares the output
from a machine with a new lubricant to the output of machines with the old lubricant.

13. £x po oAl

For questions 14, 15 and 16, a brief report of from an observational study
is given. Identify whether the study was retrospective or perspective.

14. (1 point) A statistical analyst obtains data about ankle injuries by examining a
hospital’s records from the past 3 years. !

14, tefraspetue

15. (1 point) Researchers collect data by interviewing athletes who have won olympic
gold medals from 1992 to 2008.

16. (1 point) A researcher plans to obtain data by following those in cancer remission

since January of 2005.
16. praspent: tnle

17. (1 point)  On Thursday, our class meets downstairs in room M-101 for another
geogebra software lab. Write your name here if you agree to meet there.

17.
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Math 119 Test 2 Name: MJ\

1. (4 points) Fill in the blanks below.
For each variable, the average is 50 and the standard deviation is 10.

For one of the graphs below, r = —0.90.
For one of the graphs below, » = 0.00.:
For one of the graphs below, r = 0.80.
For one of the graphs below, » = 0.95.

a) r for the graph below is 0. ?S b) r for the graph below is O
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For questions 2 and 3, describe the error in the stated conclusion. (Worth
1 point each.)

2. Given: There is a linear correlation between annual personal income and years of
education.

Conclusion: More education causes a person’s income to rise.

The seancher concluked Hhat the worreldvae mplid
& cousal reldin Leteon P fuo vaciablen

3. Given: The linear correlation coefficient for the IQ test scores and head circum-
ferences of test subjects is very close to 0. :

Conclusion: 1Q scores and head circumferences are not related in any way.
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4. Listed below are sizes (in thousands of square feet) and reverlue (in millions of

dollars) from casinos in Atlantic City. Carved -
Febakoens [J
Size | 160 227 140 144 161 147 141

Revenue | 189 159 138 126 123 108 101

k]

(a) (1 point) Which variable (Size or Revenue) should we take as the response
variable?

@ P

(b) (1 point) Which variable (Size or Revenue) should we take as the explanatory
variable?

o) Sze

(c) (2 points) Find the correlation, 7. (c) AL

6‘—‘ 0Y47x + 59

(d) (2 points) What is the regression equation? (d)

0.225 2 1°]

(e) (1 point) What is the value of r2? (e)

(f) (2 points) Interpret the meaning or r? in this context.
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5. Identify the type of sample survey.

(a) (1 point) A teacher wants to find out about the opinions of the class on a certain
topic, so she surveys the entire class.

(a) CQ‘V\(B{/\g‘

(b) (1 point) To determine her blood pressure, Charlotte divides up her day into
three parts: morning, afternoon and evening. She then measures her blood
pressure at 3 randomly selected times during each part of the day.

(b) Stoatifiod

(¢) (1 point) To estimate the percentage of defects in a box of Krusty-O cereal, a
quality control engineer selects every 120*" box of Krusty-Os that is produced.

(©) YE@{M“: \C

(d) (1 point) A man experienced a tax audit. The tax department claimed that
the man was audited because he was randomly selected from all men in his age

b e
@ JtesTyhedd

b

(e) (1 point) A San Diego television station asks its viewers to call in their opinion
regarding the weather programming.

- p
(e) (_4074-\!!‘@ Wen (2

(f) (1 point) Each employee of Nerdstroms Department Store has a 7-digit em-
ployee number. The district manager wants to find out how happy the employees
who work there are with their jobs. She randomly selects 30 employee numbers
and surveys the corresponding employees.

GELE I

(g) (1 point) To determine customer opinion of their inflight service, LeastWorst
Airlines randomly selects 100 flights and surveys all the participants of each
flight.

]
(g) CKU{S‘R‘["'

(h) (1 point) A researcher interviews 19 work colleagues who work in his building.

P
(h) Can“ﬁﬂ‘&wu



6. For each pair of variables, indicate what association you expect: positive
(+), negative (—) or none (N).

(a) (1 point) a person’s blood alcohol level; time it takes the person to solve a

maze.
J
(a)
(b) (1 point) The price of a box of Krustij, cereal; the number of boxes of cereal
sold. '
(b)

7. (2 points) Which of the following statements concerning the linear correlation coef-

ficient are true?
7. C &f\d D

(a) A linear correlation coefficient of 0.82 suggests a stronger linear relationship than
a linear correlation coefficient of -0.82.

(b) If the linear correlation coefficient for two variables is zero, then there is no
relationship between the variables.

(c) If the slope of the regression line is negative, then the linear correlation coefficient
is negative.

(d) The value of the linear correlation coefﬁcient’alwa.ys lies between -1 and 1.

8. (2 points) A set of data consists of the number of years that applicants for foreign
service jobs have studied Spanish and the grades that they received on a proficiency
test. The following regression equation is obtained: § = 31.6 + 10.9z where z rep-
resents the number of years of study and y represents the grade on the test. What
does the slope of the regression line represent in terms of grade on the test?
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9. (1 point) Six pairs of data yield r = 0.89 and the regression equation § = 5z + 2.
Also, 7 = 18.3. What is the best predicted value of y for z = 57 2 "
9.
6: 5:.5+2 = 15+ =27

10. (1 point) Six pairs of data yield r = —0.082 a,nd. the regression equation § = 4z — 2.
Also, y = 19. What is the best predicted value of y for z = 57 ’ q
: 10. _
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For questions 11, 12 and 13, read each brief report of stalistical research,
and identify whether it was an observational study or an exrperiment.

11. (1 point) A quality control specialist at the Krusty-O factory compares the output
from a machine with a new lubricant to the output of machines with the old lubricant. .

11. Ex e neneit

12. (1 point) A clinic gives a drug to a group of ten patients and a placebo to another
group of ten patients to find out if the drug has an effect on the patients’ illness.

12. E}{ {h‘:«,,»m"}'
P s el R

13. (1 point) A marketing firm does a survey to find out how many people regularly
each Krusty-O cereal. Of the one hundred people contacted, fifteen said they use the
product.

13. Obsertsdnnd Jid

For questions 14, 15 and 16, a brief report of from an observational study
is given. Identify whether the study was retrospective or perspective.

14. (1 point) A researcher obtains data about heart ’surgeries by examining a hospital’s
records from the past 3 years.

]
14 retees qud’ \ve

15. (1 point) A statistical analyst collects data by interviewing athletes who have won
olympic gold medals from 1992 to 2008.

15. M)(mst%‘:f‘f*"”
16. (1 point) A researcher plans to obtain data by following those in cancer remission

since January of 2012.
16. Mﬂ

17. (1 point) On Thursday, our class meets downstairs in room M-101 for another
geogebra software lab. Write your name here if you agree to meet there.

17. M?_
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Round all probabilities to four decimal places. Round z-scores
to two decimal places. Ehere are two versions of this exam.

W

1. A candy dish contains four red candies, seven yellow candies and four-

teen blue candies. You close your eyes, choose two candies one at a time
(without replacement) from the dish, and record their colors.

(a) (2 points) Find the ;’)robability that both candies are red.

Y 3 f‘d{t‘w’___,:_,_,. i@,o;z ’
_,_i-{j—a ‘; - 3-_-?— 5;,.—} 50 (a)a

(b) (2 points) Find the probability that the first candy is red and
the second candy is blue.

M 3
w7 8 wleoT]

ﬁ‘wé:‘jg s
3

2. Suppose that P(A) = 0.2 and P(B) = 0.3. If events A and B are
independent, find these probabilities:

(a) (2 points) P(A and B) = P(A) P ’%;’.' () [EOT“\

{
(b) (2 points) P(Aor B) = (/)(A\l *?’Im _-(D(AC'AJB-) (b) '

-z (—,)',3 ’ 6-2”‘0.0{;

3. (2 points) Toss a single, six-sided die three times. Find the probabil-
ity that all three rolls are fives.

SF l ( | [ '\\ | 3@@3]

5D o /
I ¢ -
98
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4. The human resources division at the Krusty-O cereal factory reports a
breakdown of employees by job type and sex, summarized in the table

below. |
Ll Bex T ( A
 Job Type | Male Female
Management | 7 6 13
Supervision' | 8 (12 { 20
Production | 45 2 (17
. O g0 |
One of these workers is randomly selected. L 150

(a) (2 points) Find the probability that the worker is a female.

90 (a)

|50
| (b) (2 points) Find the probability that the worker is a female or a
| SUpervisor. - ,
P(F " S) — P(F) X P(F) o5 P(F 0\:\(15) (b) }0. £53%
90 a0 _ 1 _ 9%
- T;o TS—O 1Sso  ~ |SO

(c) (2‘points) Find the probability that the worker is female, given
that the person works in production.

P(F\P) - P(F o ?) 3 [ 72 (g .}O‘CIS‘fl

e i —
17

177
e(e) T

(d) (2 points) Find the probability that the worker works in produc-

tion and is a female.
PP aa F) = 71-55 = 047 048]
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5. Voter Support for political term limits is strong in many parts of the
U.S. A poll conducted by the Field Institute in California showed
support for term limits by a 2-1 margin. The results of this poll of
n = 347 registered voters are given in the table.

For (F) Against (A) No Opinion (N) | Total
Republican (R) 0.28 0.16 0.02 0.40
Democrat (D) 0.31 0.16 0.03 0.50
Other (O) © 0.06 (564““) 0.00 0.10
Total 0.65 030 0.05 1.00

If one individual in drawn at random from this group of 347 people,

calculate the following probabilities:
(a) (2 points) P(N) (a)m

(b) (2 points) P(R|N) = P(R and N> _ 0.0 (b)m

£

Py o

(c) (2 points) P(A|D) - p(A o) D> e © D.32A
- et T
P(p) b

(d) (2 points)r P(A) = (d) O 20

(e) (2 points) P(A or O) =p(A)+P(o) -P{A qno‘@) {e) _Q?_g
~ 0,30 40,10 - 0,@"’(

(f) (2 points) P(D and A) = 0.6 (f)f 0.16 l




B(\ )

6. (2 points) You bought a new set of four tires from a manufacturer
who just announced a recall because 8% of those tires are defective.
What is the probability that at least one of yours is defective?

P(C&)Y xﬂm)“k GM_) ‘: ‘"’ P(h?}hﬁ, dg{ed”“;Ej 64 ii'g\g}gl

-r)"

In the following problem, round off your final answers to three
decimal places (or give an exact answer as a decimal). Before you
give your final answers, give exact numbers in your calculations
OR round them off to at least five significant digits.

7. (5 points) Find the expected value and standard deviation of the fol-
lowing probability model.

X | 5 10 15 T
P(X) | 0412 0579 0.009 = 2475
- ’ g = 2.543
Y{ L) \ X- () 7 --
H__ij-i——— \ <
51 oMlr]| 2.06 _ e 2 s
O 9_37‘”- §?9 5 's;{’/'\i Ez; (X"'A) ‘ (X-n)‘_?(&)
%zz’} 902'?} 0‘(’5(& ‘/5 D"fl} gq 215 3(;7!0,1
' ‘ S0y 70L7S
, 579 :L%,W"l 25 | 2.35°
Al: fX{)/}J . (0 0. li; ‘ 1S 0. 4.__{2 3? 20215
_ .95 5 {0000 (¥ 22T

| =2 (’5‘/‘1)2' PO
ew - TS

—

= o =\cHdcu1Is
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8. People with type O-negative blood are said to be “universal donors.”
About 7% of the U.S. population has this blood type. Suppose that 11

people show up at a blood drive. Find the probability of each outcome
| ) described below.

! (s 'S (a) (2 points) The first universal donor is the fourth person chosen.
| mddx.‘ X = He taal gh which the sT sucess secues , 0.0563 l
/(a)

Wkl Sueetan dediied aS ‘3}““’\3 o denor \A)\Ms 5 o unkersal doner
c) Plx=4) = (0.93)" (0.0%) = 0.05¢3

2 WW\&\ (b) (2 points) There are some universal donors in the group of 11
i " o\ people.

i ngr of sweamey n |l teals
Y= Ahe e 05197 |

Fd P(X21) =1 -P(x=0)

=1~ ) (L! a?) (0. ?3) [-—((),93)“

«0¢  (c) (2 points) The first universal donor is the third or fourth person

Qe o\ chosen ’

\ e Plx3 ah 6=t (c),@W

_ (0 93>1' (&0?} % (393); (0.9‘7}

. (d) (2 points) There are two universal donors in the group.

L"‘
Le’\

M(f

s frid P(X:1):(uCu'(ﬂ'”){ﬁ-”ﬂ@m

by i
= §5° - (0.07) (0. ?5)
= buompd£( 11, 0.07,2)
= (e) (2 points) There are no more than two umversal donors in the
B~ group.

. ( X1) = P(x <2) @
= p(x=0) ~Plx=1) Pz 1)
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9. Suppose now that 160 people show up to the blood drive.

(a) (2 points) What is the expected number of universal donors?

E(x) = n F:t/l QO\‘{/‘O»-W) (@ LA _or Ndonaes

moT (L0%3) =3.2273%

(b) (2 points)  Verify that you can use a Normal model to approxi-

mate the distribution of the number of universal donors- J
[ = .2z v o b
J’ Nn-P = V.2 =10 ] (b) "05:(45-5

; and
(

. 1 -
:‘.._‘7 r’ﬁ\,, Mr“rhal Mob‘ul Q{J{;ra){\ma}(’g Ah(‘{-
Voneg = (1e0)(0.B) = 216 | | binsvay modlal
u |

i
f—

? (c) (2 points) Using the Normal Model, what’s the probability there
| are at least 20 universal donors?

. 20- 113V 51
‘ P()( = 1‘“;) = P(i Z "3——1—1'732 (c) m

=z 2 ,2,73) — pormeledf (2,73 10

10. (3 points) A cooties insurance policy costs $50 for this year. If you
catch cooties this year, you will receive a check for $1000. If you do
not catch cooties you will receive nothing. There is a 4% chance that
you catch cooties this year. If you decide to purchase this policy, what
is the expected value of your change in wealth this year?

[ ( | . . 10. —{0

Outcome : X ; P(x) L X P(%}
- |Fgep | 4
—'_———___—.‘-‘H‘N;E T ) T y_
no {90 \a%l];'n‘g

i |V g )= 0



